AT A FIAINANT e ST elen, f@ger gear

Class-8th Holidays Home Work FULL Marks -100

ALL SUBJECT Student Name- BY-S.K VERMA

English Mathematics (6x3=18+2=20)

1. Simplify each of the following:-

(a.) 63-[(-31{-2-(8-3)}+[3{5+(-2)(-1)}] E
(b.) 15x-[8x3+3x2-{8x2-(4-2x-x3)-5x3}-2x]

2. (a.) A piece of wire is of length 12.75 m. if it is cut intgftwo Bieces in such a way that the length of one
pieces is 5.25 m. what is the length of the other piece?

(b.) Each side of a rectangular polygon is 2.5cm imglength. The perimeter of the polygon is 12.5cm. How
many sides does the polygon have?

3. (a.) if 25™1+100=5%"" find the value of '
(b.) if P=a%-b%+2ab, Q:a2+4b2-6ab%b.$: a’-4ab, and T=-2a%+b%-ab+a find P+Q+R+S-T.?
4. (a.) A number is 56 greater than}\

*
(b.) The difference betweeh the sguare of two consecutive numbers is 31. find the numbers.

5. (a.) Two supple ry angles difference by 40°. The measure of the larger angle is?
6. (a.) what must be to the numbers 6, 10, 14 and 22 so that they are in proportion?

(b.) The cost of 30 mangoes is less than cost of 40 mangoes by Rs.50 find the cost of 50 mangoes in (Rs.)

rage of its third quarter and one-twelfth. find it.

7. A basket contains 350 eggs.if 12% of the eggs. are rotten, find the number of eggs, good enough to be
sold?----(1x2=2 Marks )

Hindi Mathematics (6x3=18+2=20)

1.(a.) 37e] TTUT ToT ShT ATHTS 3T T 3T 4:5 &, 8 TV STG SeTehl 3T T 3]UTCT 5:6 FIIT| SeTeht
IAHAT 31T FATA L ?

(b.) Teh YREAT TEATHI g 3TH AT 8 JWF gl Ifg i F 17 s fear e aamgr # @ 1 ger fear
ST 9 §H 3/2 UTcd 81T & | a8 IREAT H&AT ATd FIfv|
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2. (a.)8af & 9T 50, 20 TAUT 10 ATl Foel THATRT 25 ANE &, ToFeTehT Hed 590 FAcT &1 I <50 74T
%20 dTel AT T HEAT & 3HTUTC 3:5 B, Tl Fcdeh YR o wAlet Sl HET AT hifIT?

(b.) $7aXT & 5 H & 1/5d1 1T e H & Fol TR ST 3T 1/3 WTATET o Fool T AT T &1 HEATHT &
3 1 FATAT 35 FresT & T0 T ST 93T | 9 IS H shdol 10 HR €138 10| I3 H YRS H ool
Hay &A?

3. (a.) EEAT 67x19, 11 & YUTT fasiora & o 'x' & FefY Hora AT fihrer?

(b.) TTE 3x + 2y=12 3R xy= 6, AT Ix2+4y? T HTT AT L ?

4. TV#=T 7 I[UTeTEs foehrol-
(a.) A(xy+1)29(x-1)2  (b.) X16-yI64x® +y8 ?\
5.(a.) 6y5+15y4+16y3+4y2+10y-35 H 3y2+5 T HET &? @
(b.) a IR b AT AT AT HL ARG x*+x3+8x>+ax+b x>+ ; faantaa g2
6 (a.) QT 375hT T Tsh TEAT H SHIS TATT HT 37h 37 2 31T g | IfE gt T I s

12 g, o gt Aerfau?
(b.)mAABcﬁ,wB,aawcmo;@bﬁma,mmnoem%uﬁ:sn;ﬁwﬁw
2 2

180° g1, ol ittt 10T foiepifere? ?
7. Ueh €IS 20% 187 O &=, T Hed 5% HHA GIdT, 3N THT {ed 31 FABIAT, A IH W

10% oIT3T IT| ©3T ST ffFwiora fifaw?

QEcience (10x3/2=15)
. WIdAR &7 §? §H 3oTahT [AIF0T 8 X Tohd £7
Ud H EMAR Bl 39 & A W 7T Y1 93l g2 sI&dT HifAT|
s Fa Fgd 82 STl TRTaId et arell faars I ar faftt &1 quie fifsv|
I g T TA® F H JIMTAT AT A 4T glan? == RS
YTl HANUT A 3719 &7 JHSTA 87 SITEAT a?
AT It H A (Terd) & 39t &1 adieqor Fa S
a1 FROT & 6 @9 TopEIeT & 3ol el oTo @l &2

N oo A w N 2

oo

AT UG 3HET & QN0 H P Teh FAAAT U9 Tah R Qv
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9. U dF & AHITRd IRE T

10.579T §H hddl g4 Fleor@l/ard T Hiald T el [dg T Thd 27 HIROT IdT?
Social Science (10x3/2=15)

Hield T HgeaquT 41 §7?

STol TX&TOT & flel T JdTe?
frelT Serdifer &2 & AfauTe $r s Fat gsdr &2

AT HUHR @ T AT AT 57 3 fohdsd ool &1 forg?
JreTier Y@ vE B Y@ F IR %
maamagmaaﬁwaaaﬁﬁ@?@
STIITETAT 91T §cdTehis ¥ 39T FIT IHSTT &

TIFT T T & 3T H ST FE? Q‘

. foredr ey ed &2 % wERT & @
10. am?ré:maﬁ-;rwmfru—a’rafr

%ﬁ [25%3/5=15]
gesT (1) 9RAT TfaensT & STVT3T T AT &Y TS § ?

(31) 20 42 . (&) 25 ) 52
qu(Z)m@vmﬂwm%?

(3) 14 TaFR  (§) 15 39Fd () 15 daFR () 14 AR

© 0N YA WN

geaT (3) fewar #mwr fr oy g-

(31) IRy (&) sEsT (@) & (@) 3T H ¥ HIS ALl
W (4) HRS T TSCHTT &-
(31) gear (&) 37N @) 3 @ 3 H T IS &Y

TsT (5) HTNT & FaIH B S 2-

(31) e (@) 95 (F) aof () AT
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g (6) fe= & '37EX T gAIATET QUG ©-

(31) 3feTet (@ =@H  (H) S (&) gfert
gesT (7) Tt 7 & ' frasr qdigard ereg 8-

(37) 9ad (F) AGT F () T F; BRI
g2l (8) foaesT & 'Sder & A 2reg g-

(37) T (@) QT () 3eTdT (&) AT
wesT (9) "3RG F FAH UAsq B-

(31) | (@) =l (®) e (a@g HIS A&

weA(10) 'S fhael dcdd UAse &

(37) BF & (d) FA&TT H (F) G A SIaT Fr

gesT (11) "Terea e iy o - A

(37) Hgar@s  (9) SifdarEas  ( (@) 3Fd H & IS A

uRe (12) Fer Efelar # 93 arelT eSE ©-

(37) ToTHT @) Mg e ¢ (@) e (@) e

9eaT (13) Her qic K«y‘d glel aTeT AT 8-

(3 FIT (9) (&) it (&) arar

geaT (14) g &I 98 T HEH 38F TH AT THIUF g & S I &, Fgeld 8-
(31) I¥Y (&) | (@) Fa=l (§) 397 # F FIg T

UR (15) el Tehddel H Y gl dTell Asc; g-
(37) =T (&) ST (@) 7@ (@) Tl
TesT (16) JaT & T RRA & # &R+ &-

(31) e (d) A () FFd=sr (€) 379TGIeT
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wesT (17) R & AT -

(31 3 ()5 @) 8 (@ 6
et (18) qESaTas TIAH & A5 §-
(31 3 S (\) 8 @ 7

92T (19) ©d W Hid & ? IWifhd qsg & TAAH &-

(37) Ryaras  (d) fAeraras (@) GFaeudras  (§) 9eAdrds

geaT (20) faRI9or garT fSerhr fadwar gars S &, Fead &

(31) FR&F  (d) FIAH @) s @ H A Ag e
qaa(21)ﬁmﬁﬁuﬂﬂwmwﬁa‘rquzzr(@~

@ g (@ & e (@) Q/ (&) Jafere

e (22) =T & A< 8- QK

(31 3 (@) 2 4% () 8

weeT (23) el T Y 2iam & .

SELE: (ai’@r/ (¥) F&TH A @ @&
2
Ul (24) ar eafeZi, Fr FgolldT & -
(31) e (&) afetr @) 3Fd & T S A4

uRaT (25) 'fae@rery eee & @l §-
(37) 3T @) e (@) ol @) &g

English grammar(15 Marks)

(1.) Choose the correct answer:- 6x1/2=3 Marks
(a.) Thereisa about the cunning fox. (Tail/tale)

(b.) Help your mother to do her household . (Duty/chores)
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(c.) Today a of ship left the harbour. (Fleet/pack)

(d.) The little boy is always praised for his . (Honesty/honest)

(e.) The shepherd is always followed by his of sheep. (Brood/flock)

(f.) Children are always towards animals. (Kindness/kind)

2.) Each word given in the options indicates ,a large humber of.....”.For example: ,a
herd of

cows”.

Complete each of the following phrases with a suitable word from the options
given:- 4x1/2=2Marks

(i) A of chicks. ?\
(a) litre (b) glass (c¢) brood (d) bag @

(ii.) A of sheep.

(@) school (b) flock (c) class (d) box Q

(iii.) A of wolves. &

(a) handful (b) lorry ( c) pack (d) calony

(iv.) A of flowe
(a) boquet (b) bunch (c) gagden (d) paper
3. Make NOUNS from the W}r iven below by adding —ness or —ity.( For some

words we ¢
.
need to add just —N'ky.) :- 4x1=4Marks

a. Kind b. 9@ c. active d. Sincere

4. Fill in each blank with suitable article taken from the options:-7x1/2=3.5Marks

i) Friends, we must have tickets with us. Only then, we can enter.
(an/the/a)
i) Ice is than water. (light/heavier/lighter)

iiil) Summer is pleasing in Manali. This year, we decided to go
(here/there/everywhere)

iv) I work much___ than I used to. (little/less/least)

v) It was an unfortunate incident for me. The interview____ before I reached.

(start/had start/had started)
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vi) She has a high opinion of herself. (more/much/very)
vii) He is____ weak walk. (to/too/as)

5.Choose the right word from the options given and fill in the gap:4x1/2=2 Marks

a)You are so today( lately /more late / most lately /late)
b) I have reached the spot ( just/before / after/late)
c)ls any food left ? (here/ everywhere / there/somewhere/
d)Take this medicine (always / never /sometimes /twice)

6) Complete the following passage by choosing the appropriate words from the
options given for each blank:- 4x0.625=2.5 Marks

e street and then
crossing the lawn,
at ) the swimming
came out of the pool and

I saw him walking (a) ( along , across, in, ou
running (b) ( across, along, on ,at )the lawn.

he took off his clothes and jumped (c) (inhQ
pool.(d) ( in, at , about, before) Q h
Sy

went into the dressing room to change his ¢

Thank you @
1T T34 FI glell P g1le 2 :

39 BT I =R SHeat IRl 3R EBercr @ 39T # 3 &

717



